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1. (A) . 31 , 2018   X   Y      

  (` ‘000 ) 14 

   X Ltd Y Ltd.    X Ltd. Y Ltd. 

   ` 10 

   1,000 600 

  

 

1,265 

140 

720 

100 

` 10  10%   
 440 340 

 

 

350 

80 

290 

106 

-  150 100    100 50 

  100 50  45 40 

   60 60   – 14 

` 100  14%  
 100 70 

   

  130 100    

 1980 1320  1980 1320 

  . 1 , 2019  X  Y     .            
X       : 

  (1) Y         X    
.      . 

  (2) Y    10%    12%    
 ` 100  . 
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  (3) Y  X   ` 40,000                     
X  ` 15,000    . 

  (4) Y           . 
  (5) Y      X  12%  ` 100  

 . 
     . 1 , 2019   X      : 
  (i)     

  (ii)     

                     
  (i)            . 7 

  (ii) A   B  . 31 , 2018     
  :                                                                                      (. ) 7  

   A 
Ltd 

B 
Ltd 

   A 
Ltd 

B 
Ltd 

                   

` 10    
12.00 6.00   ( 

) 

13.00 4.00 

   3.20 0.60 A  20,000 

 
– 2.20 

  3.00 2.20   5.00 2.60 

     0.20 – 

 18.20 8.80  18.20 8.80 

        A  B   . A 

  B    ` 3,00,000  ` 1,60,000  
. 

   B     . 

 (B)        : (  )  4 

   (1)             
          ? 

   (a)    
   (b)     
   (c)     
   (d)    
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  (2)            ? 

   (a)    

   (b)     

   (c)    

   (d)    

  (3)           

             ? 

   (a)           . 

   (b)          . 

   (c)           . 

   (d)    

  (4)              

         ? 

   (a) -   (b)   

   (c)    (d)    

  (5)         

     ( ) : ` 2,15,000  

     : ` 15,000 

     : ` 35,000  

   10%  .   : ` 30,000  

      : ` 10,000 

   (a) ` 20.50 (b) ` 22.00 

   (c) ` 17.00 (d)    
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  (6) X  Y   .   X   ` 2,00,000 

    ` 50,000   Y     . Y 

   25%      .      ? 

   (a) ` 50,000 (b) ` 12,500  

   (c) ` 10,000 (d)    

 

2. (A) . 1  2017  H  S  80%    ` 3,00,000 

 600  ` 57,000  . . 31-03-2018      

     ( ) 14 

   H Ltd. S Ltd    H Ltd. S Ltd. 

          

` 10    

6,00,000 3,00,000    7,14,000 4,20,000 

  4,50,000 1,20,000  4,50,000 15,000 

` 100  7%  

 

1,20,000 60,000  

 

90,000 

30,000 

30,000 

18,000 

S   

 

24,000 – H   

 

– 27,000 

 

  

90,000 

– 

– 

30,000 

   

 12,84,000 5,10,000  12,84,000 5,10,000 

              

  (1) . 1-4-2017   S   ` 50,000      

 2017  . 31-03-2017          10% 

  . H      -    . 

  (2) S   H     ` 10,000    .  H 

    20%      . 

 
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  (i)     ` 10    40,000     

. 1-4-2015  24,000  .                     

` 100    12%   2,000   1,600   . 7 

      . 1-4-2015    ` 80,000  

  - ` 1,60,000   . 

               : 

  (`)      

2015-16 3,20,000 12% 

2016-17 4,00,000 15% 

2017-18 4,40,000 16% 

   . 1-4-2016             . 

. 1-4-2017    2,800   ` 300   . 

      212    . 31-03-2018    

           “ 

”  “  ”  . 

  (ii)         : 7 

   (1)         . 

   (2)    . 

   (3)         . 

 (B)         (  ) 4 

  (1)              

      ? 

   (a)    . 

   (b)     . 

   (c)    . 

   (d)    
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  (2)  212            
             
   ? 

   (a)     . 
   (b)       . 
   (c)         . 
   (d)    

  (3)     ` 1,00,000    ` 10    10,000  
 .       ` 90,000  .   
  ` 15 .      ? 

   (a) 40% (b) 90% 

   (c) 60% (d)    

  (4)   7,000        70%  
.     700    .   
     ? 

   (a) 60% (b) 63% 

   (c) 70% (d)    

  (5)             
  

   (a)    
   (b)    
   (c)   
   (d)    

  (6)  212           
    ? 

   (a)     

   (b)     

   (c)      

   (d)    
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3. (A) “EDP”   .        . 14 

         

  (i) CAG    . 7 

  (ii)    “    ” 7 

 (B)         (  ) 3 

  (1)   CPU (  )   ? 

   (a)   (b)   

   (c)     (d)    

  (2)      ? 

   (a)       . 

   (b)      . 

   (c) BASIC   . 

   (d)    

  (3) COBOL - 

   (a)   . 

   (b)   . 

   (c)   . 

   (d)    

  (4)         

   (a)          . 

   (b)      . 

   (c)   

   (d)    

  (5) “CAG”      ? 

   (a) Controller And Auditor General 

   (b) Comptroller And Auditor General 

   (c) Company Auditor in General 

   (d)    
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4. (A)       . 14 

                         

  (i)    . 7 

  (ii)     . 7 

 (B)         (  ) 3 

  (1)         ? 

   (a)   (Cost Accountant) 

   (b)   (Chartered Accountant) 

   (c)   (Financial Accountant) 

   (d)    

  (2)         ? 

   (a)   (b)  

   (c)   (d)    

  (3)             ? 

   (a)     120  

   (b)     120  

   (c)      120  

   (d)    

  (4)       ? 

   (a)   (b) -  

   (c)   (d)    

  (5) “   (statutory auditor)    

   .”   – 

   (a)   (b)   

   (c)    (d)    

___________ 
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1. (A) The Balance sheets of X Limited and Y Limited as on 31 December, 2018 were 

as under. (` in ‘000) 14 

Liabilities X Ltd Y Ltd. Assets X Ltd. Y Ltd. 

Equity shares of ` 10 

each fully paid 1,000 600 

Fixed Assets 

Investments 

1,265 

140 

720 

100 

10% Preference shares 

of ` 10 each 440 340 

Stock 

Debtors 

350 

80 

290 

106 

Profit & Loss A/c. 150 100 Cash & Bank 100 50 

General Reserve 100 50 Bills Receivables 45 40 

Export Profit Reserve 60 60 Fictitious Assets – 14 

14% Debentures of         

` 100 each 100 70 

   

Current liabilities 130 100    

 1980 1320  1980 1320 

  It was decided that X Limited will take over the business of Y Limited on             

1st January, 2019. X Limited paid the purchase price as follows : 

  (1) Equity shareholders of Y Limited were issued seven equity shares of             

X Limited for every six equity shares held. Equity shares were issued at par. 

  (2) 12% preference shares of ` 100 each to make payment to preference 

shareholders of Y Limited at a premium of 10%. 
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  (3) Y Limited had accepted bills payable of ` 40,000 in favour of X Limited of 

which Bills of ` 15,000 were discounted by X Limited. 

  (4) Export profit reserve of Y Limited is still to be maintained for further three years.  

  (5) Debenture holders of Y Limited were converted into equivalent 12% 

Debenture of ` 100 each of X Limited. 

  Prepare Balance Sheet of X Limited as on 1st January, 2019 assuming : 

  (i) Amalgamation in the nature of Merger  

  (ii) Amalgamation in the nature of Purchase.  

                    OR 

  (i) State clearly the conditions, which are if fulfilled, the amalgamation is 

considered to be in the nature of merger. 7 

  (ii) A Limited and B Limited have the following Balance sheets on 31st 

December, 2018 :                                                                          (`. Lakhs) 7  

Liabilities A 

Ltd 

B 

Ltd 

Assets A 

Ltd 

B 

Ltd 

Equity shares of                

` 10 each fully paid 

12.00 6.00 Fixed Assets (Other 

than Goodwill) 

13.00 4.00 

Reserves and 

Surpluses 

3.20 0.60 20,000 shares of A 

Limited 

– 2.20 

Other Liabilities 3.00 2.20 Current Assets 5.00 2.60 

   Fictitious Assets 0.20 – 

 18.20 8.80  18.20 8.80 

   A Limited is to acquire the business of B Limited on the basis of intrinsic 

value of shares. Goodwill of A Limited is valued at ` 3,00,000 and that of B 

Limited is ` 1,60,000.  

   Give journal entries in the books of B Limited. 

 (B) Select the most appropriate answer from the alternatives given : (Any four)  4 

   (1) When amalgamation is in the nature of purchase, in the books of Purchasing 

Company, which of the following accounts is debited to adjust statutory 

reserves of Vendor Company  ? 

   (a) Amalgamation Adjustment A/c. 

   (b) Investment Allowance Reserve A/c. 

   (c) Development Rebate Reserve A/c. 

   (d) None of the above 
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  (2) When amalgamation is in the nature of merger, it should be accounted by 

which method  ? 

   (a) Merger Method of accounting 

   (b) Pooling of interest method of accounting 

   (c) Purchase method of accounting. 

   (d) None of the above 

  (3) When bills have been accepted by the vendor company in favour of 

purchaser company of which some bills have been discounted, then at the 

time of amalgamation, what is the correct accounting treatment in the books 

of Purchasing Company  ? 

   (a) Cancellation entry is made with total amount of bills accepted by 

Vendor Company. 

   (b) Cancellation entry is made with the amount of bills discounted by 

Purchase Company. 

   (c) Cancellation entry is made with the amount of bills on hand by 

Purchase Company. 

   (d) None of the above 

  (4) In case of amalgamation is in the nature of purchase, if liquidation expenses 

are borne by the transferor company, then in the books of transferor 

company it should be debited to which account ? 

   (a) Realisation Account (b) Goodwill Account 

   (c) General Reserve Account (d) None of the above 

  (5) Find out intrinsic value of equity share from the details given.  

   Net Assets (Excluding Goodwill) :  ` 2,15,000 

   Sundry Liabilities :  ` 15,000 

   Goodwill :  ` 35,000 

   10% Preference Share Capital :  ` 30,000  

   No. of Equity Shares :  ` 10,000 

   (a) ` 20.50 (b) ` 22.00 

   (c) ` 17.00 (d) None of the above 
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  (6) X Limited acquires Y Limited. On the date of amalgamation X Limited has 

stock of ` 2,00,000 including goods costing ` 50,000 purchased from                

Y Limited. Y Limited normally sells goods at cost plus 25%. What is the 

amount of unrealised profit in stock  ? 

   (a) ` 50,000 (b) ` 12,500  

   (c) ` 10,000 (d) None of the above. 

 

2. (A) H Limited acquired 80% Equity shares of S Limited at ` 3,00,000 and 600 

Debentures at ` 57,000 on 1st October, 2017. The following are the balance 

sheets of both the companies as at 31-03-2018.                      (Amount in Rupees) 14 

Liabilities H Ltd. S. Ltd Assets H. Ltd. S. Ltd. 

Equity Shares of 

` 10 each fully paid 6,00,000 3,00,000 

Tangible Fixed 

Assets 7,14,000 4,20,000 

General Reserve 4,50,000 1,20,000 Investment 4,50,000 15,000 

7% Debentures of 

` 100 each 1,20,000 60,000 

Stock 

Debtors 

90,000 

30,000 

30,000 

18,000 

Current A/c. of             

S Limited. 24,000 – 

Current A/c. of 

H Limited 

– 27,000 

Creditors 

Proposed Dividend 

90,000 

– 

– 

30,000 

   

 12,84,000 5,10,000  12,84,000 5,10,000 

  Prepare consolidated balance sheet of both the companies after taking into account 

the following information. 

  (1) The balance of Reserves of S Limited as on 1-4-2017 was ` 50,000 of which it 

has paid dividend for the year ending on 31-03-2017 at 10% on Equity share 

capital during October, 2017. H Limited has credited dividend received by it to 

its profit and loss account. 

  (2) Stock of S Limited includes goods costing ` 10,000 purchased from H Limited 

on which H Limited had charged profit of 20% on selling price. 

OR 
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  (i) Big Limited purchased 24,000 equity shares of ` 10 each out of 40,000 

equity shares issued by Small Limited on 1-4-2015. It has also purchased on 

the same date 1,600 12% preference shares of ` 100 each out of 2,000 

preference shares issued by Small Limited. 7 

   In the books of Small Limited, on 1-4-2015 there was a credit balance of              

` 1,60,000 and ` 80,000 in profit & Loss A/c and General Reserve A/c 

respectively.  

   Small Limited has earned profit and paid dividend as follows : 

Year Profit Earned (`) Rate of Equity Dividend 

2015-16 3,20,000 12% 

2016-17 4,00,000 15% 

2017-18 4,40,000 16% 

   Small Limited has issued Bonus shares in the ratio of 2 equity shares for 

every 5 equity shares on 1-4-2016. Big Limited has sold 2,800 equity shares 

at a price of ` 300 per share on 1-4-2017. 

   Calculate the amount of “profit dealt with” and “profit not dealt with” as 

required under Section 212 of the Companies Act to be attached to the 

Annual Accounts of Big Limited for the year ending 31-03-2018. 

  (ii) Explain the effect of following, while preparing consolidated Balance sheet : 

   (1) Depreciation due to revaluation of Fixed Asset of Subsidiary.  

   (2) Proposed dividend of Subsidiary Company.  

   (3) During the year Sale of shares of subsidiary held by Holding 

company. 

 (B) Select the most appropriate answer from the alternatives given. (Any Four) 4 

  (1) When Bonus shares are issued by Subsidiary Company, which of the 

following statements with respect to Holding Companies interest in 

Subsidiary is correct  ? 

   (a) It is increased  

   (b) It does not change  

   (c) It is decreased 

   (d) None of the above. 
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  (2) Under Section 212 when the accounting year of Holding and Subsidiary 

companies end on different dates, then which of the following changes in 

subsidiary during interval period is not reported by Holding Company  ? 

   (a) Change in share capital of Subsidiary 

   (b) Change in Holding Companies interest in Subsidiary 

   (c) Change in Long term borrowing by Subsidiary 

   (d) None of the above 

  (3) Equity share capital of the subsidiary company is ` 1,00,000 consisting of 

10,000 equity shares of ` 10 each. Holding company acquired equity shares 

of subsidiary at a cost of ` 90,000. Cost of acquiring one share was ` 15. 

What is the Minority interest in Subsidiary  ? 

   (a) 40% (b) 90% 

   (c) 60% (d) None of the above 

  (4) By purchasing 7,000 Equity shares of Subsidiary, Holding Company gained 

70% control. Subsequently it disposed of 700 equity shares of Subsidiary. 

What is revised interest of Holding Company in Subsidiary ? 

   (a) 60% (b) 63% 

   (c) 70% (d) None of the above 

  (5) While preparing consolidated Balance sheet of Holding and Subsidiary 

Companies, the Minority Interest is shown as- 

   (a) Part of Long Term Liabilities 

   (b) Contingent Liability 

   (c) Part of Share Holders’ Fund 

   (d) None of the above 

  (6) Which of the following statements of subsidiary company is not required to 

be attached under Section 212 of Companies Act, 1956 to the financial 

statement of Holding Company. 

   (a) Director Report of Subsidiary 

   (b) Auditor Report of Subsidiary 

   (c) Cash Flow Statement of Subsidiary 

   (d) None of the above 
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3. (A) Explain the meaning of “EDP”. Discuss in detail the parts and components of 

Computer.  14 

        OR 

  (i) List out the duties of CAG. 7 

  (ii) Write short note on “The Indian Audit and Accounts Department”. 7 

 (B) Select the most appropriate answer from the alternatives given. (Any three) 3 

  (1) Which of the following is part of Central processing Unit ? 

   (a) Input Unit (b) Output Unit 

   (c) Arithmetic and Logic Unit (d) None of the above 

  (2) Which of the following statements is correct ? 

   (a) Computer Hardware is intangible part of computer 

   (b) Computer software is used for programme. 

   (c) BASIC is computer program 

   (d) None of the above 

  (3) COBOL is- 

   (a) A computer software 

   (b) A computer Language 

   (c) A part of computer 

   (d) None of the above 

  (4) The Public Accounts Committee has to satisfy itself for- 

   (a) the moneys were disbursed on the services or purposes to which they 

were applied 

   (b) the expenditure was authorised 

   (c) Both of them 

   (d) None of the above 

  (5) The full form of “CAG” is- 

   (a) Controller And Auditor General 

   (b) Comptroller And Auditor General 

   (c) Company Auditor in General 

   (d) None of the above 
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4. (A) Differentiate between Financial Audit and Cost Audit. 14 

                        OR 

  (i) Discuss the objectives of Management Audit. 7 

  (ii) Which are different techniques of Management Audit  ? 7 

 (B) Select the most appropriate answer from the alternatives given. (Any three) 3 

  (1) Who can’t be appointed as cost auditor from the following ? 

   (a) Cost Accountant (b) Chartered Accountant 

   (c) Financial Accountant (d) None of the above 

  (2) To whom cost auditor has to submit his audit report ? 

   (a) To Central Government (b) To Share Holders 

   (c) To State Government (d) None of the above 

  (3)  What is the prescribed limit within which cost auditor has to submit his 

audit report to appropriate authority ? 

   (a) within 120 days of signing the report 

   (b) within 120 days from the end of financial year 

   (c) within 120 days from Annual General Meeting 

   (d) None of the above 

  (4) Which one is the technique of Management Audit ? 

   (a) Ratio Analysis (b) Profit & Loss A/c. 

   (c) Balance sheet (d) None of the above 

  (5) “The disqualifications prescribed for statutory auditor of a company are 

applicable to a cost auditor also.” This statement is- 

   (a) True (b) False 

   (c) Partially true (d) None of the above 

___________ 


